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QUESTION 1

An engineer creates the objects that must be deployed at each site in Cisco ACI Multi-Site Orchestrator. Which action
should be taken before the schema can be associated with the newly configured site? 

A. Attach the templates to the newly configured site 

B. Configure a provider for the Cisco ACI Multi-Site Orchestrator 

C. Import existing policies from an existing tenant to Cisco ACI Multi-Site Orchestrator 

D. Configure the Infra Site-Specific Settings 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. What must be configured to allow the PBR node (LB-int) to monitor the availability of the endpoint
that is in the EPG server? 

A. Endpoint Dataplane Learning 

B. Unicast Route disabled for client and server bridge domains 

C. PBR node tracking 

D. Direct Connect in the service graph template 

Correct Answer: A 

 

QUESTION 3
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An engineer configures a new Cisco ACI Multi-Pod and must set up the link between the spine and the IPN device.
Which three actions should be taken to accomplish this goal? (Choose three.) 

A. Enable MP-BGP routing 

B. Enable BIDIR-PIM protocol 

C. Enable PIM-SM protocol 

D. Enable OSPF routing 

E. Enable IS-IS routing 

F. Enable DHCP relay 

Correct Answer: ABF 

 

QUESTION 4

Which two components must be configured as stretched to establish intra-VRF communication between two EPGs that
are deployed in different sites and different bridge domains? (Choose two.) 

A. contract 

B. tenant 

C. application profile 

D. bridge domain 

E. EPG 

Correct Answer: DE 

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/white-paper-c11-739609.html 

 

QUESTION 5
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Refer to the exhibit. An engineer wants to avoid connectivity problems for the endpoint EP1 when it reaches an external
L3Out network through the gateway 10.2.2.254/24. Which two configurations must be implemented in BD-BD2?
(Choose two.) 

A. Disable unicast routing 

B. Enable IP data plane learning for the VRF 

C. Disable ARP flooding 

D. Enable ARP flooding 

E. Enable unicast routing 

Correct Answer: AC 
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